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Solving Sequence

A knot diagrarrﬂ Clop €4 €3 €8 Ci1 C2  C7
Ideals for irreducible component#ﬂ)f Xpar

I = —u® 4+ - 1)

* 1 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u—u?®+...+u?—1)

(i) Arc colorings

1

ag = \(0
1
ajo = \ —y?
u

a6 = \ —ud +u

—u? 41
a11 = \y? — 22

—u
aq = U

u’ — 4u® + 4ud — 2u

a3 = \ —u +5u" — Tu® + 20 + u

—u?+1
ag = u2

—u® +5uf —Tut + 202+ 1
ay = u® — 4u8 + 4ut — 202

—u?® +16u?3 + - + 6u —u
az = \ u?® —15uB + ... —3ud +u

—u'® 4 1100 — 48uM + 107u'? — 13300 + 95u8 — 34u® + 2u* +u? + 1
a7 = w20 — 12018 + 58u10 — 1444 + 193u!2? — 130w + 26u8 + 14u® — 5u?

—u'® + 11016 — 48u' 4+ 107u'? — 133u'0 + 9518 — 34wl + 2ut + w2 + 1
ar = \ 4?0 — 1248 4+ 58u!6 — 1444 + 193u'? — 13011 4 26u8 + 14ub — 5u?

(ii) Obstruction class = —1

(iii) Cusp Shapes =

— 4?2 484430 — 78018 +4u?” +4216u26 —72u2° — 14700124 +560u3 +34636u>2 — 2464121 —
56164120 4+ 6748u'® + 6253618 — 1192847 — 4660016 + 13636u'° 4 21736u!* — 9752u'3 —
5352u'2 4+ 3984w 4 36410 — 800u” — 32u® 4+ 168u” + 60u’ — 116u® + 28u3 — 4u? — 4u+6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq WO+ u?—1
€2 w3+ 17 4+ —2u+1
€3 u?® 4+ 5u® 4 - 4+ 38u+5
C4,Cs5,C8 u36+u35+_._+u2_1
Cy, C10
7 u® — P 4 4 34u — 13
c11 u3% 4+ 5u3® + .- — 38u — 39




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1, co y36+17y35+..._2y+1
o y36+5y35+..._6y+1
cs y36 _ 7y35 + - — 1434y + 25

C4,C5,C8 Y30 — ATy 2y 41

Cg, C10
cr y36 _ 7y35 + -+ — 3314y + 169

- y36 + 13y35 + .-+ 16730y + 1521




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.923130 4 0.2851451

—0.30787 — 2.253461

5.12843 + 3.263421

u = —0.923130 — 0.2851451

—0.30787 + 2.253461

5.12843 — 3.263421

u=0.995096 + 0.2867891

4.18097 + 4.674791

11.82536 — 4.595971

u= 0.995096 — 0.2867891

4.18097 — 4.674791

11.82536 + 4.595971

u = 1.024000 + 0.1991581

5.17530 4 2.554431

13.5240 — 4.22511

u = 1.024000 — 0.1991581

5.17530 — 2.554431

13.5240 + 4.22511

u = —0.994663 + 0.3176111

2.00397 — 9.657281

8.40249 + 8.584831

u = —0.994663 — 0.3176111

2.00397 4 9.657281

8.40249 — 8.584831

u = —1.049710 + 0.1386641

3.94362 4 2.174551

11.37017 — 2.119681

u = —1.049710 — 0.1386641

3.94362 — 2.174551

11.37017 + 2.119681

u= 0.674179 4 0.2685061

—1.71251 + 3.161121

3.99113 — 5.830381

u= 0.674179 — 0.2685061

—1.71251 — 3.161121

3.99113 + 5.830381

u = —0.691311

1.07542

9.42760

u= 0472191 4 0.3687471

—0.77973 — 3.668101

5.58740 + 1.247351

u= 0472191 — 0.3687471

—0.77973 + 3.668101

5.58740 — 1.247351

u= 0.201428 4+ 0.5364861

—1.68498 + 6.750161

2.91272 — 7.904871

u= 0.201428 — 0.5364861

—1.68498 — 6.750161

2.91272 + 7.904871

u = —0.210047 + 0.4841131

0.46489 — 2.034801

6.34842 +4.410971

u = —0.210047 — 0.4841131

0.46489 + 2.034801

6.34842 — 4.410971

u=0.100349 4 0.5042341

—3.42760 — 0.434851

—1.35617 — 0.723681

u = 0.100349 — 0.5042341

—3.42760 + 0.434851

1.35617 + 0.723681

u = —0.332629 4 0.3511201

1.029420 — 0.6690641

9.01560 + 4.718041

u = —0.332629 — 0.3511201

1.029420 + 0.6690641

9.01560 — 4.718041

u = —1.64665 + 0.021631 6.41597 — 3.890561 0
u = —1.64665 — 0.021631 6.41597 + 3.890561 0
u= 1.66590 9.58969 0
uw = 1.70003 + 0.069621 8.97882 + 3.618511 0
uw = 1.70003 — 0.069621 8.97882 — 3.618511 0
uw= 1.71726 + 0.083031 11.6119 + 11.26931 0
u= 171726 — 0.083031 11.6119 — 11.26931 0




Solutions to I V—1(vol ++/=1CS) | Cusp shape
u = —1.71795 + 0.074611 13.8143 — 6.12981 0
u=—1.71795 — 0.074611 13.8143 + 6.12981 0
u = —1.72470 4+ 0.0514171 14.9875 — 3.57551 0
u = —1.72470 — 0.0514171 14.9875 + 3.57551 0
u= 1.72765+ 0.037571 13.86510 — 1.439531 0
u= 1.72765 — 0.037571 13.86510 4 1.439531 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce w3 44w —1
C2 S 17U 4 —2u+ 1
€3 W+ 50+ 4 38u+5
C4,Cs5,C8 WO b w21
€9, C10
7 w0 — P 4+ 34w — 13
¢ u?® +5u 4 .- — 38u — 39




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1. o y36+17y35+...72y+1
o y36+5y35+...76y+1
cs Y30 — 7y 4 — 1434y + 25

C4,Cs5,C8 y36_47y35+..._2y+1

C9, C10
7 ySG _ 7y35 + .- — 3314y + 169

e y36 + 13y35 + .-+ 16730y + 1521




